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EFOHT

1. DRINEEPMABEEERIVEE (amount ) |, B AInt , VRN ( pric
e) , i Hgfloat

2. FHIf......elif......elseZ51 |, IRIBMANEGREE |, BRIBmAVT (rate) 2
amount < 507 ; rate = 0 ; 245 < amount < 10H7J ; rate = 0.01 ; 2410 <
amount < 2007 ; rate = 0.02 ; 2520 < amount < 30fY ; rate = 0.04 ; 2430 <
amount < 4007 ; rate = 0.06 ;

3. itEN{TEEn (total ) , total = 245 < amount < 1087 ; rate = 0.01 ;
SLFHCHES

amount = int(input("MABEHRIEE : "))

price = float(input("BIANBGRERMT : "))

if amount < 5:

rate = 0

elif 5 <= amount < 10:

rate = 0.01

elif 10 <= amount < 20:

rate = 0.02
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elif 20 <= amount < 30:

rate = 0.04
else:
rate = 0.06

total = price * amount * (1 - rate)
print("RI{THISER : %d" % total)
BITER

TRIE N\ AUEEETTA] , amount = 3, price = 100 , Elittrate = 0, 1RIEAR total

= price * amount * (1 - rate)i+&15Ztotal = 300,

RIS ARIEEERTR] , amount = 8, price = 100 , Etrate =
0.01 , #RIEA T total = price * amount * (1 - rate)1tE5Ztotal = 792,

IRIEMABIEIETTZ0 , amount = 18, price = 100 , Fittrate =
0.02 , IRIEAT total = price * amount * (1 - rate)1t&E 5% total = 1764,

RIEEIAIEWERTS0 , amount = 28 , price = 100 , EHitbrate =
0.04 , {RIEAZ total = price * amount * (1 - rate)itE18Ztotal = 2668,

RIE ABIZUERTR] , amount = 38 , price = 100 , Elitbrate =
0.06 , IRHE AT total = price * amount * (1 - rate)1t&E 5% total = 3572,
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